dcygjet / drn3jet [pb/GeV]

Ratio to DO

1960 GeV ppbar Jets

104 __I | I I I I | I I I I |__
= 3-jet mass (DO P, >70GeV, |y| <2.4) =

10° £ =
— -k -

- ?; By 5

* ! S

- ’ B\\ —]

102 n ’ \ _
: \\ :

— A -
1= = DO -

; --f3-- Herwig 7.0.2 default ;
- ¢ Sherpa 2.2.8 default R —

107 E
5 | [ [ iR — | | | E

:I | T T T T ’_—m T T T T |:

— -

2 & -
: E—"E/ :

. .

- = ]

L o |
1 ; _
.4 L R S L RN g ’ -
. -

0.5 _

Rivet 3.1.0, = 7.8M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


